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Pycckmii si3pik 6 kmac{ 97 | 5,2% [Bx TKY |2 TKY |1 TKY |1 TKY 111(4(0]0(0]0
Jlureparypa 6 xnac{ 49 | 2,0% 0 0 TKY 1 0]0(1]0|]0(0]0
WNHocTpaHHBIN S3BIK 6 xmac{ 48 | 4,2% Bx 1 0 0 [KY 11]1]1110]0(0]0
MaremMaTtuka 6 kmac{ 81 | 7,4% [P TKY 2| TKY TK) 2 0 [KY TKY 2|1 0|5(1|10f{0(0
Uctopus 6 xmac{ 32 | 9,4% Bx 1 TKY |1 0 TKY 111]12|0]0(0]0
I'eorpadus 6 kmac{ 16 | 6,3% 0 0 0 TKY 110(1(0]0|0]0
Buonorus 6 ximac|{ 16 | 6,3% 0 0 0 TKY 11]0]1|10]0(0]0
Texuomorus 6 xmac{ 32 | 3,1% 0 0 TKY |1 o(of1f{ofojofo0
Ousnueckas KyibTypa |6 knac| 32 | 9,4% [Bx 1 TKY 1 | 0 [KY 1{1f{2ofofofo0
N3ob6pasurenvHoe nckyd6 kimac{ 16 | 6,3% 0 0 TKY 1 0(O0f[1|0f0]|0]O0
My3bika 6 xnac{ 17 | 5,9% 0 0 0 TKY 110(1]10|0|0]O0
OO01ecTBO3HAHNUE 6 xnac{ 16 | 6,3% 0 0 0 TKY 110(110]0|0]|0
Nudopmaruka 6 xkimac{ 16 | 6,3% 0 0 0 TKY 110]11]0|0]0(0
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Pycckuit 361K 6 kmac{ 97| 5,2% |Bx TKY |2 TKY |1 TKY |1 TKY 1]11]4]0[0]|0]0
Jlutepatypa 6 KJac 49| 2,0% 0 0 TKY 1 0(O0f[1({0f0]|0]O0
WHocTpaHHBIN SA3BIK 6 KJ1ac 48| 4,2% Bx 1 0 0 [KY 111(1]0]0|0]0
Martemartuka 6 KJac 81| 7,4% P TKY 2| TKY TKY2 0 [KY TKY 2 [(0]5]1|0(0|0
Hcropus 6 KJ1ac 32| 9,4% Bx 1 TKY |1 0 TKY 111(2]0]0|0]|0
I'eorpadus 6 KJac 16| 6,3% 0 0 0 TKY 110]11|0|0]0(0
Buomorus 6 KJ1ac 16| 6,3% 0 0 0 TKY 11]0]1]10]0(0]0
TexHoJOrus 6 KJ1ac 32| 3,1% 0 0 TKY |1 o(of1f{0fo0]j0fo0
dwusndeckas KyabTypa |6 Kiac 32| 9,4% |Bx 1 TKY 1 | 0 [KY 111]12]|0|0]0{0
N3o06pa3urensHoe nCKyd6 Kiac 16| 6,3% 0 0 TKY 1 0(0f[1({0f0]0]O0
My3bika 6 KIac 17] 5,9% 0 0 0 TKY 110]1|0|0]0{0
OO01ecTBO3HAHNUE 6 xIiac 16| 6,3% 0 0 0 TKY 110({110]0|0]|0
Wudopmaruka 6 KJ1ac 16| 6,3% 0 0 0 TKY 110(1]0]0|0]0
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Pycckuit s13p1k 6 Kiac 97| 5,2% | Bx TKY |2 TKY |1 TKY |1 TKY 111(4]10]0|0]|0
Jluteparypa 6 KJac 49| 2,0% 0 0 TKY 1 010|1]0f(0]0OfO0
WNHoctpaHHBIN S3BIK 6 K1ac 48| 4,2% Bx 1 0 0 [KY 111]11|0|0]0(0
MaremaTrka 6 K1ac 81| 7,4% P TKY2| TKY TKY2 0 [KY TKY 2 (0] 5]1|0(0|O0
Uctopus 6 K1ac 32| 9,4% Bx 1 TKY |1 0 TKY 111]12]|0|0]0(0
I'eorpadus 6 kac 16| 6,3% 0 0 0 TKY 110|1|0|0]0{0
Buonorus 6 xiac 16| 6,3% 0 0 0 TKY 110(110]0|0]0
Texnoiorus 6 KJ1ac 32| 3,1% 0 0 TKY |1 0O(0f1f{0f(0]0f0
Ousnueckas KyisTypa |6 knac| 32| 9,4% [Bx 1 TKY 1 | 0 [KY 1{1f{2ofofo]o0
N300pasurensHoe HCKyd6 Kitac 16| 6,3% 0 0 TKY 1 0(O0[1f{0f0]0O]O
My3bika 6 xiac 16| 6,3% 0 0 0 TKY 110(110|0|0]0
OO01mecTBO3HAHUE 6 xiac 16| 6,3% 0 0 0 TKY 110(1]10|0|0]|O0
Nudopmaruka 6 K1ac 16| 6,3% 0 0 0 TKY 1lofl12lolololo
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Pycckmii si3pik 6 xJiac 97| 5,2% |Bx TKY 2 TKY |1 TKY |1 TKY 111(410]/0|0]|0
Jlutepatypa 6 KJac 48| 2,1% 0 0 TKY 1 0(O0f[1({0f0]|0O]O0
WNHocTpaHHBIN S3BIK 6 xJiac 48| 4,2% Bx 1 0 | 0 [KY 111(110]0]0]0




MaremaTtuka 6 xJiac 81| 7,4% P TKY 2| TKY TK) 2 0 [KY TKY 2|1 0(511|/0]0]0
Uctopus 6 KJac 32| 9,4% Bx 1 TKY |1 0 TKY 111]12]|0|0]0(0
I'eorpadus 6 Kiac 16| 6,3% 0 0 0 TKY 110|1|0|0]0{0
Bbuonorus 6 xJIac 16| 6,3% 0 0 0 TKY 11]0]110]0(0]0
Texnoiorus 6 KJ1ac 32| 3,1% 0 0 TKY |1 0jo0j1(0j0|0OfO0O
dusznyeckas KyabTypa |6 Kiac 32| 9,4% |Bx 1 TKY 1 | 0 [KY 111]12]|0|0]0{0
N3o00pasurensHOe UCKYyd6 Kitac 16| 6,3% 0 0 TKY 1 0]1]0]1]0(0]j0f0
My3bika 6 kiac 17] 5,9% 0 0 0 TKY 110]1]0(0(0{0
OO1IecTBO3HAHNE 6 KJ1ac 16| 6,3% 0 0 0 TKY 11]0]1]10]0(0]0
HNudopmaTtuka 6 kiac 16| 6,3% 0 0 0 TKY 110]1]0(0(0(0
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